Transfers Report

This report contains the transfers results.

Contest Name	Ward 8 Southside Central
Valid Votes	7,255
Positions to be Filled	4
Quota	1,452

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alexander BELIC	Scottish National Party (SNP)	1,244
Lorraine DUNCAN	UKIP	115
Mark FIDDY	Independent	59
Gordon FRASER	Scottish Conservative and Unionist	486
Qasim HANIF	Scottish National Party (SNP)	620
Mhairi HUNTER	Scottish National Party (SNP)	1,287
Cass MACGREGOR	Scottish Green Party	819
James SCANLON	Glasgow Labour	1,190
Soryia SIDDIQUE	Glasgow Labour	1,331
Chris YOUNG	Scottish Liberal Democrats	104
	Total	7,255

Transfers Report

This report contains the transfers results.

Stage 2 - Exclusion of Mark FIDDY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	5	1.00000	5.00000
Transfer to Lorraine DUNCAN	5	1.00000	5.00000
Transfer to Gordon FRASER	14	1.00000	14.00000
Transfer to Qasim HANIF	3	1.00000	3.00000
Transfer to Mhairi HUNTER	5	1.00000	5.00000
Transfer to Cass MACGREGOR	10	1.00000	10.00000
Transfer to James SCANLON	4	1.00000	4.00000
Transfer to Soryia SIDDIQUE	3	1.00000	3.00000
Transfer to Chris YOUNG	6	1.00000	6.00000
Value of non-transferable ballot papers			4.00000
	Total		59.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Chris YOUNG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	3	1.00000	3.00000
Transfer to Lorraine DUNCAN	6	1.00000	6.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	9	1.00000	9.00000
Transfer to Qasim HANIF	0	0.00000	0.00000
Transfer to Mhairi HUNTER	6	1.00000	6.00000
Transfer to Cass MACGREGOR	27	1.00000	27.00000
Transfer to James SCANLON	22	1.00000	22.00000
Transfer to Soryia SIDDIQUE	22	1.00000	22.00000
Value of non-transferable ballot papers			15.00000
	Total		110.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Lorraine DUNCAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	6	1.00000	6.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	43	1.00000	43.00000
Transfer to Qasim HANIF	1	1.00000	1.00000
Transfer to Mhairi HUNTER	3	1.00000	3.00000
Transfer to Cass MACGREGOR	14	1.00000	14.00000
Transfer to James SCANLON	21	1.00000	21.00000
Transfer to Soryia SIDDIQUE	5	1.00000	5.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			33.00000
	Total		126.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Gordon FRASER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	13	1.00000	13.00000
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Qasim HANIF	3	1.00000	3.00000
Transfer to Mhairi HUNTER	8	1.00000	8.00000
Transfer to Cass MACGREGOR	74	1.00000	74.00000
Transfer to James SCANLON	146	1.00000	146.00000
Transfer to Soryia SIDDIQUE	47	1.00000	47.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			261.00000
	Total		552.00000

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Qasim HANIF

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	82	1.00000	82.00000
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	0	0.00000	0.00000
Transfer to Mhairi HUNTER	328	1.00000	328.00000
Transfer to Cass MACGREGOR	27	1.00000	27.00000
Transfer to James SCANLON	10	1.00000	10.00000
Transfer to Soryia SIDDIQUE	100	1.00000	100.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			80.00000
	Total		627.00000

Transfers Report

This report contains the transfers results.

Stage 7 - Surplus of Mhairi HUNTER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	1,306	0.11301	147.59106
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	0	0.00000	0.00000
Transfer to Qasim HANIF	0	0.00000	0.00000
Transfer to Mhairi HUNTER	0	0.00000	0.00000
Transfer to Cass MACGREGOR	180	0.11301	20.34180
Transfer to James SCANLON	49	0.11301	5.53749
Transfer to Soryia SIDDIQUE	0	0.00000	0.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			11.52965

Total

185.00000

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Soryia SIDDIQUE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	0	0.00000	0.00000
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	0	0.00000	0.00000
Transfer to Qasim HANIF	0	0.00000	0.00000
Transfer to Mhairi HUNTER	0	0.00000	0.00000
Transfer to Cass MACGREGOR	115	0.03713	4.26995
Transfer to James SCANLON	967	0.03713	35.90471
Transfer to Soryia SIDDIQUE	0	0.00000	0.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			15.82534

Total

56.00000

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of Alexander BELIC

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	0	0.00000	0.00000
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	0	0.00000	0.00000
Transfer to Qasim HANIF	0	0.00000	0.00000
Transfer to Mhairi HUNTER	0	0.00000	0.00000
Transfer to Cass MACGREGOR	519	0.00365	1.89435
Transfer to Cass MACGREGOR	461	0.03238	14.92718
Transfer to James SCANLON	135	0.03238	4.37130
Transfer to James SCANLON	87	0.00365	0.31755
Transfer to Soryia SIDDIQUE	0	0.00000	0.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			27.08068
	Total		48.59106

Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of Cass MACGREGOR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alexander BELIC	0	0.00000	0.00000
Transfer to Lorraine DUNCAN	0	0.00000	0.00000
Transfer to Mark FIDDY	0	0.00000	0.00000
Transfer to Gordon FRASER	0	0.00000	0.00000
Transfer to Qasim HANIF	0	0.00000	0.00000
Transfer to Mhairi HUNTER	0	0.00000	0.00000
Transfer to James SCANLON	239	0.00365	0.87235
Transfer to James SCANLON	202	0.03238	6.54076
Transfer to James SCANLON	48	0.03713	1.78224
Transfer to James SCANLON	61	0.11301	6.89361
Transfer to James SCANLON	431	1.00000	431.00000
Transfer to Soryia SIDDIQUE	0	0.00000	0.00000
Transfer to Chris YOUNG	0	0.00000	0.00000
Value of non-transferable ballot papers			565.34432

Total

1,012.43328